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= 22,128 34,701 AN 12,573
& 6,250,000 5,500,000 750,000
Il 161,520 161,520 0
&2 28,500 28,500 0
S 887,759 757,031 130,728
Al 5,420,231 6,448,212 A1,027,981
E3tAIE 2tel 11,852,821 12,077,500 N224,679
& 6,250,000 5,500,000 750,000
2 6,000 6,000 0
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Al 4,792,821 5,864,000 A1,071,179
St 23H0IIE =48 (=) 9,939,821 9,928,500 11,321
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Al 4,014,821 4,850,000 A835,179
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20,000,000& = 14! 20,000 0 20,000
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= 675,000 578,500 96,500
Al 4,014,821 4,850,000 A835,179
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Al 0 835,179 A835,179
03 A€ 2 0Hd| 18,686 14,821 3,865
O =2ZSHHIOHE 2L ALY
Z & 18,686,000 18,686 14,821 3,865
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OgF2 AAels ==l
2 & 20,000,000 = 14 20,000 10,000 10,000
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02 2324l 30,243 24,643 5,600
O LA==ME HTAAE SHAIEZ
400,000 * 7& 2,800 0 2,800
O SHA STHAIAEY SAAER
200,000& * 7& 1,400 0 1,400
O HEA STAIAEY SAANER
200,000& * 7& 1,400 0 1,400
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Al 16,500 9,500 7,000
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[ 2,178 2,520 342
Al 5,082 5,880 AT98
201 Yer2 Y| 10,008 7,387 2,711
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A 37,425 33,645 3,780
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= 2,825 2,905 A100
Al 6,590 6,805 ~235
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g 8,568 7,000 1,568
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= 569 675 A 106
Al 1,327 1,575 A248
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= 13,214 11,494 1,720
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p 14,000 1,400 12,600
= 1,800 180 1,620
Al 4,200 420 3,780
ORHA 28 ZAY STHAIL SXIZe
H 18,182,000% * 14! 18,182 17,200 982
g 12,728 12,040 688
= 1,636 1,548 83
Al 3,818 3,612 206
OL%N2 2 . ysty YHAIL R
H 13,759,000% * 14! 13,759 14,400 A641
p 9,632 10,080 ~448
= 1,238 1,29 A58
Al 2,889 3,004 A135
OMEA LIEHE STHAIL ST
2 9,183,0008 * 14 9,183 8,400 783
p 6,429 5,880 549
< 826 756 70
Al 1,928 1,764 164
HoDlEg2 A(2) 2,100 0 2,100
=2 2,100 0 2,100
307 0I2+0| & 2,100 0 2,100
= 2,100 0 2,100




SN 2st0lEt
o SSHEE ¥ WS (SHLTZ/SI)
Sl sEesye (29l &
M« B2 - S2(3H) - MRAY - BaS arey HRE2
02 DIt AR X 2,100 0 2,100
ORI R BIESAI (SH) KR A
700,008 * 3H 2 2,100 0 2,100
2 2,100 0 2,100
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402 SI2ER 20| 180,000 0 180,000
2 90,000 0 90,000
= 27,000 0 27,000
Al 63,000 0 63,000
01 DI AR E 180,000 0 180,000
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= 90,000 0 90,000
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